Edexcel A level Mathematics Vectors

Section 1: Vectors in three dimensions

Solutions to Exercise level 3

1.
c
M N
A \B
MN = MA + AB + BN
=1CA+AB+LBC
=3(a-o)+(b-a)+i(c—b)
=fa-3c+tb-a+ic—3b
=-za+3b
=z(b-a)
— -2
2. AB=b-a=|1 |-|2|=
1
1 1 0
AD=d-a=|-1|-|1|=| =2
1) (2 0
1
AE=¢—a=|1 |-|1]|=
—1 1 -2

So AB, AD andl AE are all at right angles to each other and all have
magnitude 2, so they are the edoges of a cube.
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Edexcel A level Maths Vectors 1 Exercise solutions
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AG=AB+AD+AE=| 2
-2
-2
g-a=|-2
-2
1 -2
g—|1|=|=
1 -2
-1
g=|—1
-1
g =(1,-1,-1)
=1 D c
2
6
A c A 2 B
AC* =27 +2°
AC =22
-2
AG=| 2|0 AGZ =V22 +2% +22 =12 =22
-2
cosg_Ac_:z\/E_\/E
AG 243 =z
0=3523°
20f2
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